HRERNEEREEN
O oo od o







2. U0 OO0

00 0000 00 YMe
-000 0000000000 O0O0O0O OO0

o0 oo0o oooo oo o)
ex)d0d O00 OO0 :
10~11g dry weight/mole ATP
00 00 00 000 : 0 6.5g/mol ATP
Cco,u )

ATP OO OO0 Yyure




1 1 M arp

AP M
YX [ ATP YX | ATP D

YAP ap: BiomassO “0O0 00" OO
My 000000 O000 OO0 ATPODO OO



(Respiratory quotient, RQ)
(Respiratory ratio )

1 co,

(g mole P/g atm O)




3.

0000 00 O0: CHy g0 o5N o5
100 00 OO

— CH,05N;

~1g000 000 0000 O



CH, O, +aG, +bNH, —cCH,O;N; +dH,0+eCQ

CH. O, 100 0000
CHoOBNS: 100 OO0 O
" C: 1=c+e

H: m+3b =co+2d
O: n+2a =cp+d+2e
N: b=cd

" U0 RQ)==/a



19000 000 C
@O000:0 00

0000 00 O
00 CO,, H,0, NH,O

00000 000 0o0o0d oo)

-t oogo O

oo oooo od

ex) 00O (CH,): 14)+4(1)-8 y=8/1=8
000 (CgH,0p): 6(4)+12(1)+6(—2)=24

y=24/6=4

000 (C,HOH): 2(4)+6(L)+1(-2)=12

=Y cha = YeroH = YO

y=12/2=6

HEN




CH,0,+a0,+bNH; —<CH ,OgN;+ dCH,O N,
+eH,0 +fCO,
=000
Yo =4 -m+ 2n
Y, 4+—2-3
Yp,=4+X—2y-32z

wc+d+f=1@O0000)

cfdz=b @ O0O00O)
cy,+dy, =ys~4d @ OO0 O000)



Cy, +dy, =ys—4a

1 cy, dy, 4a
Vb Vs Vs
1:§b+§P+g

€ :0000000,00000000000 00
fb:EIEIEIEIEIEI oo 0ooodod on
é: gt oot oo b oo oot oo

P



CeH1206+:0, CO,+H,0

oo 100 oo ooo o o :24

0000 00 00 00
Y, ,<=24(3.14)=76g dwO O /0

0000 OO0 00 00
Y,,<=76/180=0.4g dwO O /O



